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5. aFii Tk LA — b - BRSNS E) T A, 0 0 0 0 0 0 [mmny[ 18 ] 5 5 1 6 5 [3.80
6. RAMNTHIN L TEWVEERE LB LV ET D, 0 0 0 0 0 0 |xwad[ 15 | 7 5 2 6 5 |3.66 :
7. BEONFIFTHMTEE LD, 0 0 0 0 0 0 [mmwxl 17 ] 6 4 1 7 5 13.71 M5 e R
8. o DO MAE LI, GREEIE, TR, 608, RHg 0 0 0 0 0 0 Sz L] 22 6 3 2 2 5 4. 26
P [CORr e  Fh O TR 30V
- [T ] L ] sz || Jomin £l BlE] 35
oX i 5 4 3 2 1 LRl SR 5 4 3 2 1 [ EE] P
1. VoA (R AV C VO E T A, 25 | 3 I 0 0 8 [4.66][ 22 [ b 3 T 1 5[4 .14
2. BIRRT 0 Y e ZFEROEE S, STFEDN Y RTVTT 24 2 4 2 0 8 4. 50 22 4 3 3 3 5 4.11
3. BEODHIZDN DT VLD 23 | 3 5 1 0 8 450 22| 4 3 3 3 5 |4.11
4. BEOH#ELBLITET T, 24 | 4 3 1 0 8 459 22| 5 2 2 4 5 |4.11
5. aHii T LA — b - SRR LY T A, 25 [ 1 5 1 0 8 Ja56][ 23] 4 3 1 4 5 [4.17
6. FRAINTHIET L C LV B H WV E 30 26 | 1 5 0 0 8 l4.66] 22 ] 5 2 2 4 5 |4.11
7. REONFIFECTEE LD 221 4]l 5] 1]o0 8 4472t | 5] 3] 313 5 [4.09 fs e ey
8. Zof MO A E LI, (R, TE, ME, ARmEE 28 2 2 0 0 8 4,81 24 4 4 0 3 5 4,31
SEEETA [OerE  Fh O T 3V
S ESEH] B0 e EP | S 1% 1] e RS
o i 5 4 3 2 L L] SEp 5 4 3 2 1 [ EE] P
1. VoA (R FM AV C VO E T A 27 | 2 3 0 0 8 [4.75][ 238 [ 3 2 T 1 5_[4.60
2. BT 0 Y= FEHOEE T, LFEDNYRTVTT A, 24 3 4 1 0 8 4.56 29 2 2 1 1 5 4. 63
3. BEODHIZIDN DT VLD 22 | 5 4 1 0 8 l4.50f 28| 3 2 1 1 5 [4.60 3
4. BEOH#ELBAILE T, 27 | 3 2 0 0 8 478 29 | 2 2 1 1 5 |4.63
5. aFii Tk LA — b - BRSNS Y) T A, 26 | 3 3 0 0 8 [4.72][ 29 ] 3 1 1 1 5 |4.66
6. FRAINCHIET L C LV B bV E 30 24 | 4 3 1 0 8 [4.59][ 29 | 2 2 1 1 5 |4.63
7. RRONEFIBCEE LD, 211 2 1 31 0] o 8 f47f29] 2 ] 21 111 5 [4.63 s e ey
8. ZofE PO A E LI, G, TE, ME, ARmEE 27 3 2 0 0 8 4,78 30 2 2 0 1 5 4,71
SESETIR [CORr e [ Fh O T 3V
S ESEH] B0 e P | eS| 1% 1] e ES
o i 5 4 3 2 L L] SEp 5 4 3 2 1 ] P
1. VoA (R AV C VO E T A, 25 | 2 1 0 T 8 [4.56 ][ 3L ] 2 1 T 0 5_[4.30
2. BIRRT 0 Y7 ZFEROEE T, STFEDN Y RTVTT 24 2 4 1 1 8 4. 47 30 2 1 2 0 5 4.71
3. BEODHIZIDN D T VLD 24 | 2 4 1 1 8 |4.47 || 31 1 1 2 0 5 |4.74 ] B 3
4. BEOH#ELBAITEY T, 26 | 1 4 0 1 8 45931 ] 2 1 1 0 5 |4.80
5. aFii Tk LA — b - BRSNS E) T A, 271 | 2 1 1 1 8 [4.66][ 30 ] 3 1 1 0 5 |4.77
6. FRAINCHIET L C LV B H WV E 30 25 | 2 3 1 1 8 [4.53][ 29 | 3 2 1 0 5 4.71
7. RHRONEFIBCEE LD, 231 3 ] 4] 1] 1 8 f44all2of 21 2] 21 o0 5 |4.66 s e R
8. ZofE PO A E LI, (R, TE, ME, ARmEE 24 4 3 0 1 8 4,56 31 3 1 0 0 5 4. 86
Fﬁ?fﬂiﬁti I 3% it - i 3 GEE '%QE — 3CV P
ESEH] B0 sz 32 || Skl 1% 1] falrz] 35
2% i 5 4 3 2 Tl EEEES IS | 4 3 2 1 ]
1. VoA (R IS AV C VO E T A, 26 | 2 1 0 0 8 [4.69][ 30 [ 3 2 0 0 5 [4.30
2. BIRRT 0 Y e ZFEROEE S, STFEDN Y RTVTT 25 2 4 1 0 8 4. 59 28 4 3 0 0 5 4. 71
3. REOHHITDND TV, 25 | 2 4 1 0 8 [4.59][ 29 | 3 3 0 0 5 (474 ] ™ i3
4. BEOH#ELBAILE T, 26 | 2 4 0 0 8 [4.69 ] 29 | 4 2 0 0 5 |4.77
5. AHi Tk LA — b - BRSNS Y) T A, 25 | 3 4 0 0 8 J4.66][ 28] 4 3 0 0 5 [4.71
6. FRAINCHIE L C LV B H WV E 30 25 | 3 4 0 0 8 [4.66] 29 | 4 2 0 0 5 14.77
7. REONFFIFECTEE LD 26 1 4 1 31 0] o 8 f469[20f 4] 2] ol o 5 [4.77 fs e e
8. ZORFCLon VMBS E LI, GREEIE, TH, @8, KBy 27 2 3 0 0 8 4. 75 30 4 1 0 0 5 4. 83
[— ISR T R FIE [ 30V
ESEH] BI20] sz 32 || Skl 1% 1] falz] 35
oX i 5 4 3 2 L L] SEp 5 4 3 2 1 ] P 2
1. VoA (R TSIV C VO E T A 21 5 1 T 8 [4.34][ 23 [ 5 3 T 3 5 [4.26
2. BT 0V ZFROEE T, SUFEDLM LT NTT D, 16 5 6 3 2 8 3.94 22 5 2 2 4 5 4. 11
3. BEODHIZIDN DT VLD 15 | 4 7 3 3 8 378 17| 5 4 5 4 5 |3.74 ] 7 M3
4. BEOH#ELBAILEE T, 18] 5 8 0 1 8 [4.22]) 22| 2 6 1 4 5 |4.06
5. AHii Tk LA — b - SABRERE S L) T A, 18] 5 6 1 2 8 [4.13][ 23] 5 3 1 3 5 |4.26
6. FRAINTHIET L C LV B H WV E 30 17 | 4 6 3 2 8 [3.97][ 19 ] 6 5 1 4 5 |4.00 “a
7. HEONA R CE £ Uiy 6| 551 42 8 391|201 51 51 31 2 5 [4.09 M5 e fmen
8. O MO MAE Lish,  (REIEIE, P8, 68, RBmns 21 4 6 0 1 8 4,38 22 7 4 0 2 5 4. 34
S TR ES § 4l GEE '%QE | 3CV
T [T ] L ] sz || Jomim el BlE] 35
R i 5 4 3 2 L Iem] e 5 4 3 2 1 L] P
1. VoA (R FM S AV C VO E T A, 25 | 4 3 0 0 8 [4.69][ 29 [ 3 2 T 0 5 [4.71
2. BIRRT 0 Y e ZFEROEE T, STFEEDN Y RTVTT 26 4 2 0 0 8 4. 75 28 4 3 0 0 5 4.71
3. BEODHIZIDN DTV 26 | 4 2 0 0 8 475 27| 4 3 1 0 5 |4.63
4. BEOH#ELBAILEE T, 26 | 4 2 0 0 8 475 27 | 4 2 2 0 5 |4.60
5. AHi Tk LA — b - BRSNS Y) T A, 26 | 3 3 0 0 8 Ja72]27] 4 2 2 0 5 [4.60
6. FRAINCHIET L C LV B H WV E 30 26 | 2 4 0 0 8 [4.69] 27 ] 4 2 1 1 5 |4.57
7. RRONEFFBCEE LD, 241 6 | 21 0] o 8 f469[26f 5 ] 4] 0ol 0 5 [4.63 s e e
8. O MO MAE Lish,  (REIEIE, P8, @8, RBmns 27 2 3 0 0 8 4,75 28 4 3 0 0 5 4,71




T ISR MG g [ 5OV
T S L B0 ][ Do £l BlE] 35
o i 5 4 3 2 L lmE] SEp 5 4 3 2 1 ] P
1. VAo (R I AV C VO E T A 0 0 0 0 0 0 [ry[ 26 [ 4 2 T 2 5 [4.46
2. BT 0 Y x s ZEROEE T, STFEEDN Y RTVTT 0 0 0 0 0 0 £hize | 21 4 3 5 2 5 4. 06
3. BEODHIIDN DT VLD 0 0 0 0 0 0[] 21 6 2 4 2 5 14.14
4. BEOH#ELBAILE T, 0 0 0 0 0 0 |z 25 | 3 3 2 2 5 14.34
5. aFii Tk LA — b - BRSNS Y) T A, 0 0 0 0 0 0 [z=mn[ 23] 5 3 1 3 5 |4.26
6. MARITHNT L CRWEER LBV ES ), 0 0 0 0 0 0 |x=wxd[ 22| 5 3 1 4 5 |4.14
7. BREONRITHMTEIE LD 0 0 0 0 0 0 [mmxl 21 ] 6 3 1 4 5 |4.11 M5 e R
8 SO MBE Ld, (B, PE, 608, KB 0 0 0 0 0 0 Sz L] 26 5 2 0 2 5 4.51
I - R 1 [CORrE  Fh O L g
ESEH] B0 gz 0 | Sk il g3 4@@_7}
oX il 5 4 3 2 1 LRl SR 5 4 3 2 T RS
1. VoA (R S AV C VO E T A 0 0 0 0 0 0 [r [ 30 [ 3 1 T 0 5 14
2. BT 0 Y w7 ZEROEE S, STFEEDN Y RTVTT 0 0 0 0 0 0 %£hize || 28 3 3 1 0 5 4.
3. BEOBHIZTDN TV 0 0 0 0 0 0 [mmnd[ 27 ] 4 2 2 0 5 |4 i3
4. BEOH#ELBAITEY T, 0 0 0 0 0 0 || 28 | 3 2 2 0 5 |46
5. aFii Tk LA — b - BRSNS E) T A, 0 0 0 0 0 0 [m=mnd[ 27 ] 3 3 2 0 5 |4
6. MARITHNT L CRVEER LBV ES ), 0 0 0 0 0 0 |x=wxd[ 28| 3 3 1 0 5 |4
7. REONFIFECTEE LD oJoJoJolJ]o 0 munlas ] 4 3] o] o 5 |47 M5 e ik
8. o DO MAE LI, GREEIE, TR, 608, RHg 0 0 0 0 0 0 Sz L] 30 3 2 0 0 5 4. 80
BEEE T 1 [CORr e  Fh O T gl
ESIRIR] B0 gzl 32 | Sehin ] 1% 1] falz] 35
2% i 5 4 3 2 1 LgEEs] el 5 4 3 2 1 [ EE] P
1. VoA (R AV C VO E T A, 26 | 3 3 0 0 8 [4.72][30 [ 3 2 0 0 5 [4.30
2. BIRRT 0 Y e ZFEROEE S, STFEDN Y RTVTT 25 2 5 0 0 8 4. 63 30 2 3 0 0 5 4. 77
3. BEOBHITDONY 0T W 25 |1 3 4 0 0 8 [4.66][ 30 [ 3 2 0 0 5 [4.80 ] ®
4. BEOH#ELBLITET T, 26 | 4 2 0 0 8 [4.75][ 30| 3 2 0 0 5 |4.80
5. aHii T LA — b - SRR LY T A, 26 | 3 3 0 0 8 [4.72][ 29 ] 3 3 0 0 5 [4.74
6. FRAINTHIET L C LV B H WV E 30 24 | 5 3 0 0 8 [4.66][ 30 | 3 2 0 0 5 |4.80
7. REONEFFRCEE LD, 23] 6 | 31 0] 0 8 f463[31f 2] 2] 0ol o 5 [4.83 s e e
8. Zof MO A E LI, (R, TE, ME, ARmEE 26 2 4 0 0 8 4,69 31 2 2 0 0 5 4. 83
E—— SR T L FIE 30V
RURBARL RS TE___ e w A I
2% i 5 4 3 2 T EEEES IS | 4 3 2 1 [ EE] P
1. VoA (R FM AV C VO E T A 24 | 3 1 0 T 8 [453][ 23] 4 3 2 3 5 [4.20
2. BRI 0V ZFROEE T, SUFEDLM LT NTT D, 22 5 2 2 1 8 4. 41 23 5 2 3 2 5 4. 26
3. BEODHIZIDN DT VLD 22 | 4 2 3 1 8 434 22| 3 5 3 2 5 |4.14
4. BEOH#ELBAILE T, 21 ] 6 3 1 1 8 [4.41] 23 | 4 3 2 3 5 |4.20
5. aFii Tk LA — b - BRSNS Y) T A, 20 | 7 2 2 1 8 [4.34][ 24 ] 3 2 3 3 5 [4.20
6. FRAINCHIET L C LV B bV E 30 21 | 3 5 2 1 8 [4.28][ 22 ] 6 2 2 3 5 |4.20
7. BEONRITIMTEE LD 20 | 5 4 2 1 8 428 22| 5 3 2 3 5 [4.17 fs e R
8 PO MAE LT, (R, TH, R, AR 23 5 3 0 1 8 4.53 25 4 3 1 2 5 4. 40
S ISR T L T 30V
e K ESEH] B0 Al 32 ]| S %3 @iz 35
oX i 5 4 3 2 L L] SEp 5 4 3 2 1 ] P
1. VoA (R AV C VO E T A, 28 | 2 2 0 0 8 [4.81][29 [ 2 1 0 0 5 [4.71
2. BRI 0V ZFROEE T, SUFEDLM LT NTT D, 28 3 1 0 0 8 4. 84 29 2 4 0 0 5 4. 71
3. BEODHIZIDN D T VLD 28 | 2 2 0 0 8 |4.81 | 29 1 5 0 0 5 |4.69
4. BEOH#ELBAITEY T, 28 | 3 1 0 0 8 [4.84] 29 | 2 4 0 0 5 4.71
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